
Germany in transition: the story so far, Part 1 
The Weimar Government 

 
The Weimar Government was set up in 
_______ following the abdication of 
_______________.  Positives about this 
new constitution were: 
 
 
Negatives about the Weimar 
Constitution were: 
 
 
 

The Treaty of Versailles was __________ 
by many Germans.  They felt the 
Weimar Government had __________ 
the German army.  The ‘blame’ clause 
meant that… 
 
 
This was a problem for the Weimar 
Government because… 

The Weimar Government faced many 
rebellions, for example the 
S__________ U__________ in 19__.  
This was a communist uprising with the 
aim of… 
 
 
Was this rebellion successful? 

A further rebellion in 1920 was the 
K______ P________.  This was 
prompted when the Weimar 
Government announced they would… 
 
 
 
Was this rebellion successful? 

By 1923, the Weimar Government were 
unable to pay… 
 
This led to France and Belgium… 
 
 
This is known as the R______ C_______ 
and it ultimately led to… 
 

The definition of hyperinflation is…. 
 
 
 
Give 3 impacts of hyperinflation: 

  

  

  

Gustav Stresemann was appointed as 
Foreign Secretary in 1923.  He also 

served as Chancellor.  He led a number 
of strategies to recover from 
hyperinflation and boost the 

international reputation of Germany…. 

Economic Recovery… 
Dawes Plan and US loans: 
 
 
Retenmark: 
 
 
 
Young Plan: 
 
 

International reputation… 
Locarno Pact: 
 
 
League of Nations:  
 
 
Kellogg-Briand Pact: 
 
 

Give examples of strategies helping 
Germany: 

  

  
 
Give examples of strategies not working 
in all areas: 

  

  

Key dates check (there could be more 
than one event per year)… 
 
1918: 
 
1919: 
 
1920: 
 
1923: 

 

What state was Germany in by: 
 
1923? 
 
 
 
1929? 
 

 


